l‘ﬁﬂ %’fb AP JF R

FAFa BB I68ERY 28Y ¥- 53 KFPHEP Y

Ay FL g
MFH-EREFRPY REF AL

RIZ%$P wg P B FL BoimGEg )~ F - R(p )
R P F 80 ~4 PREAS (a1 E OF%ES GH1E)
R | HET X | GHPR Srp $-F2@F0R

- ~HEHEFEL £ 204)

()1l 4-'¢4® OA£3% T4 E**A> AB L BC (BC &.E }+)-% OA =3> AB =4 BC =12 >
pl OC z & %

(A)5 (B)11 (C)13 (D)15 (E) 1+ %=

( )2 =# % ABCD*® » AB=AC =13> BC=CD = DB =10> AD =1/99 s 4% 0 £ 7

ABC frT 5 BCD 1k & > R cosb=
U2 g dE i gl

(A)

()3 4% Fl £~ # ABCD—EFGH ® » AB =3 AD =2 AE =1 | T 7|fm i d % ?
H G
B D/)I_ ________ _['_‘ C
Al B

(A) AB - CG (B) BD-HF (C) AC-EC (D) FB -EH (E) AF - HB

(@ )4 %EApRAZ As BriER A i APAB S — I = &304 BLP S4B & 5 T v
BEL? (A)S BE (B)- mE& (C)-Es (D)- R (E)- Lo



( )5 Z®¢  A(3, —1,2)~B(—3,2,5)7 AB toxz T Bk 5
A)3\2 (B)3\/5 (C)3 (D)33 (E)4

SN SEM(FMAL B BE2A B-BMNIEOL)
()l =#P(—2,3,—-5) LB TrlkitPY i L0
(A) P ip b > o Bherid ek 2 (2,—3,5)
(B) P Ap Bt yz T o et fiELE_(2,3,-5)
(C) P Ap b »> x pherihfigk & (—2,-3,5)
(D)P | zx T & chpedr % 3
(E) P 3|y herpedg 5/ 29

()2 % A(1,2,3)-B(4,5,6)~C(9,8,7) £TAwmeavfcA-B-Cl &L Fr §3;9
(A)(6,5,4) (B)(10,11,12) (C)(—6, —5,—4) (D)(—4,—1,2)(E)(12,11,10)

( )3 e4arim¢$-28A(1,2,3)B(2,4,5)-C(3,4,3) #AB&AC2 % 4% 6>
(A) AB - AC=6 (B)cosf=sind (C) BC =+[5 (D)#=135° (E) AABC & # =3

()4 4@ T 0 & > 48 ABCD-EFGH s £ %+ 2(  AB =2) > K % & = 35 ABCD ¢¥

o My N & B 5 E BF ~ EF a9 8o ZER T SRt iE 3§ Fren ?

A D
X
B
/’ I//);Eii 77777 H
M S
//N
F G
111
(A) KM="AB —5AD + AE
(B) KM - AB=1
(C) KM =3

(D) AKMN % - & & = &35

10
(E) AKMN 2 & ## ?32C



( )5 %’H\: (0,1,2)’7\: (1,0, —1)’ W\:U\—{—tv\ ’ E]l]‘t ;'Jf?;!ﬁ:;"i ?

(D) £t=2 »wLlv
(E) WAE? E5 vV

ZEAL(FA4L X 604)

1. £ - 48 ABCD-EFGH > ¢ &+ EF =2> EH =3 EA =4> AG# DF 2 - 2 & 0 90°<0<180° >

2. Z=m¢ >, 0A-~OB-0CA@%£3% 2 OA=OB=1> OC=2:D3% AB ¢ 8.> OE | CD

*E- ] OE =
C

A

3. &8 ABCD—EFGH* P 5 BFth? 2-Q & BC + » BQ =k CQ » * ~HPQ=90°" B

k=
E H
1
1
L
F <,
I______
P\ ,’A b
B Q C

4. #A(5,0,7)°)B(—-3,4, -1))P&AB+¥ PA=3PB > kPE.&L{=



5. %a:(Z,l,_l)’B\:(X,—l,—Z)’EAfrB\E‘hJ}\,i_é 600’«"}"\)(]/

'L
I

6. P(2,0,1)°Q(3,1,—-1)°R(1,-1,2)>A(3,—2,1)> 42 a=2PQ—3RQ > m 2AB =32a -
Al B ghz &4k

7. BEESEY XXy T L -4e ot - ERTEHP(2,3,4) Hesa +20(0,0,0)
S 45 kb5 BER0 % OR =2 PO > A R Bhend 48 5

8. #A(2,—-1,2):B(3,0,4)°0(0,0,0)> % k=0A+tOB

=OA+tOB (t%%# ) kKT~ ~AOB" B
t

9. £ &P+Y?+972=12> Ff2x+y—3z 2 (1)E =+ & % (28 P (X,Y,2) =

10. % a=(—2,1,—-1)>b=(4,p,q)>c=(r,3,1)>%al/lbralc Bl prqtr=

11, 7 @9 =8 A(3,-5,5)-B(1,-1,1)~C(3,—2,2)> #:

(1) AB . AC = % + chit 5485 %

(2) BE & AC + 42 BiBb e %

12. %a=(2,3,-1)> b=(3,-1,2) s#kaxb=



- E I 5

- CEBHFILL 0 £ 20 8)

1 2 3 4 5
C B C D B
S FEM (FHAAL H-BE2L HE-BUIROAL)
1 2 3 4 5
ABCDE ADE ABCE AD AC
= \ﬁfbﬁ(-ﬁ{zzll} ,_,EGOA\)
1 2 3 4 5
e 2 1 (-1.3.1) 1
29 3 3
6 7 8 9 10(1)
17 3
70 3.8 4,68 3 6
( 2) ( ) c
10(2) 11 12(1) 12(2) 13
(1,2,-%) | (0,4,-2) (3,-11) (5,—7,—11)




